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Mean is affected by change in et Stz il | (1D
Ratio =+’ (D) - Rate 4® (C)  Scale Mg (B)  Place £ (A
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Radii of a circle are WUl esgLl | 3)
Double of the diameter (s (C)  Allunequal sicF¢ (B)  All equal sl (A
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Tangents drawn at the ends of diameter of a circle are .............. to each other
perpendicular »# (D)  npon-parallel yi#Z (C)  collinear &/ (B)  parallel i (A
Angle inscribed in a semi-circle is c ettt e Hrid | (5)
4 O n/3 © w2 B) w (A
9.1 L - el EugisL S e Fasteing | (6)
The arcs opposite to incongruent central angles of a circle are always
Perpendicular »f (D)  Parallel > (C) incongruent JiZ (B) Congruent S A
I SUA Lt ax® +bx + e =0 eblahmam | (D
The number of terms in a standard quadratic equation ax®+bx+c=0 is
4 (D) 3O 2 B 1 W
Cube roots of -1 are : Lenel-1 | (B
w,-w D) -1,w,-w © 1,w,w @ -1,w,w A
i+% is equal to sl §+% ¢)
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The third proportional of x* and y* is ) 1 v 4 x* | (10)
Va2 SR ) IS () v/ix* B) v (A ;
If uxv? ,then Jruocy? Si| QD
w=1 O w=k@© u=k' ® u=v (A
Partial fractions of ﬁﬁ are of the form q_JnJ(’ - e a:% (12)
P L) 1+ 2O 1+ @) S W
If ACB,then A-B is equal to ctnA-B InACB 1| (3)
¢ (D B © A®B B-A W
The domain of R={(0,2),(2,3),3,3,3,d} is  edutssd R={0,2,2,3,3,3,6,9} | 14
2,3,3) ®  {0,2,3,4 © {0,2,3} B {2,3,44 W
A frequency polygon is a many sided ........... \ q_..._'.._.......gfu:’:lr-{é{ Ly 2 | (15)
triangle &d* (D) square 3, (O rectangle ™ (B) closed figure Fui (W) !
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Q. No.2 Write Six short answers to the following 2x6 =12 d"; 5 i AF Ledvrge Sditn 240
Write quadratic equation in the standard form m 2 :(:_1 =6 'd_’r SP G ded islaGonss | 1
Solve the equation by using quadratic formula 2t =Tx =S a.JW!LUmG&»»[ etsle | 2
Define quadratic equation ’4{ ¥ Platlas | 3
Find the discriminant of the given quadratic equation 4x3-Tx—2=0 ’éﬁ’r}”oﬁf O abslaBusss | 4
Evaluate w'+ w7 ' w4 w7 a{r}"of 5
Discuss the nature of the roots of the equation 2% ~Tx+3=0 af_‘-:..f.?‘.{r(iuf L’/’ué.-.-,l,l/J_;'z-,u 6 |
' 75° 1 225° Ut PulTS, b .;H/Jjéu ﬂ
Express the following as aratio a: b and as a fraction in its simplest form 75° - 225°
, 7 y=35 gk x’ Inx=3 2y=Tu yuxx Ji|8
Ify ocx',andy=7whenx_=3ﬁndxwheny=35 | ‘
Find a third proportional to (x—y)* , x* -y’ G-y, K-y ’é_,-fp"’._/til/." 9 }
Q-No.3 Write Six short answers to the following  2x6=12 &%, 7.., AL el ge LSts 340
| Resolve into partial frgctions (—)(1%(151—35 | B &%ﬁ J.y Eﬂu{ E‘Jf,_ ] |
What is an improper fraction ? S gl o b | 2
T YUX, 257X =(1,4,7,9), Y= (2,4,5,9} /1|3
If X={1,4,7,9}, Y={2,4,5,9} then find YUX
e lnt XL I L={a,b,c}, M={d,c,f, g} fil4
L If L={a,b,c}, M={d,e,f,g} then find two binary relations in LxL
Deﬁne intersection of two sets _ , E:‘:':..y}gf o7 lﬁziu}r; 5 —»
Write De Morgan’s laws _ _ ’4& FLS A | 6
Find arithmetic mean by direct method for the following set of data SRl F s b bsty | T
12,14,17,20,24,29 , 35,45
What is cumulative frequency ? : “wqfé);(; ,f_ ‘ 8
Define median sy /“J.,Uu; 9“J
Q. No. 4 Write Six short answers to the following  2x6 = 12 df/ (o B L ey deLdits 4 AUy
Define ratio and give one example é,dom,,léw}f ;J i |
Find Mean proportional of 16 and 49 b ADihsk 49 116 | 2 i
Locate the angle in XY-plane 135° SRS XY L1350 | 3
60° 30'30" g’a‘PJﬂluv*nfg,,;;éz__,u:up:L;v 4
Express the sexagesimal measures of angle in decimal form 60° 30'30" e
Find 6 if £ =4.5 cm y 2.5 cm | ‘ £=45cmy2.5em £ 05
Find v when £=4cm = % radian » =4 g= % A .ﬁ—a—’:(:g: } }S_‘
Define angle é._.i!/'" Gotts 7
a_r;‘:;r;ZB}’nc~8cm A b=15cm,a=17cm * A ABC/1| 8 :I
Ina A ABC a=17cm,b=15cmand c=8cm Findm « B ) L L
“ Deﬁne and draw the geometric figure the line segment of circle v Zrb;yuféf::r;é:’ fJ ,ab"'é_a,/’u 9
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If two chords of a circle are congraent then they will be equidistant from the centre
OR /L
ﬁ'——t'm.f ¥ s u]é_.‘gg‘.“:f 4,1:3.’4_/ lu!é...g,lﬁ;gfr J( s (5 I;AQ.—/'I)/ §

If a line is drawn perpendicular to a radial segment of a circle at its outer end point , it is tangent to the circle at

that point

8§x3=24
NOTE : Attempt THREE questions in all But question No. 9 is compulsory
Solve the equation by completing square  7x* +2x-1 = 0 TeA2R-1 =0 LS i Senie | (A-5.Q
< BpH R+ 2k Dx+ 4 M L2200k | @B)
For what value of k the expression k’x” +2(k+Dx +4 is perfect square.
If a:b=7:6 ,Find the value of 3a+5b:7b->5a 2;{(:3’:..43\{3a+ Sb:7b—5a I a:b=7:6.1] (A-6.Q
%3 2 x345x2-7
Resolve into partial fractions %ﬁ;j;_% %X—z:sz—x:—lz A o Sz | (B
(A-BY =A'UB'  Jefe#) B={1,4,7,10} » A={1,3,5,7,9} ‘U={1,2,3,4.. 10} /1] A-7.Q
If U={1,2,3,4.. 10}, A={1,3,5,7,9} and B={1,4,7,10} then verify (A-B) =A’UB’
a5 3 /164211500, 12400 , 15000 , 14500 , 14800 Lrfit (g2 Gty | (B)
The salaries of five teachers in rupees are as follows 11500, 12400 , 15000, 14500 , 14800
find standard deviation
geed & cosec s sec © tand s LB AsNSBHE siisIng = % S| (W-8.Q
If sind = %— and terminal side of an angle is not in quadrant III . Find the valdes of tanf , sect and cosect
ﬂ(’4JwJé}/£JL{?€J&p/IUﬁ/‘VVABC :—lﬁ'&u"mdﬂ/ B
Circumscribe a circle about an equilateral triangle ABC with each side of length 4 cm
LUMJ‘UJUJVQY/ /u,,;u;qf U"]:J)Z.é./’bf o -9.Q
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1 A
The set {x|xeWAx <101} is called q_w{ {x|xeWAXx <101} &+ | (D
Finite set &t (D)  Nullset wofs (O  Subset oxd (B) Infinite set wr@its & (A)
If A and B are disjoint sets then AUB is equal to atnsy AUB Jumes 74 B oA AN
¢ (D) B (© AuB B A W
A data in the form of frequency distribution is called L et P 6 | 3D
Polygon {u»i2 (D) Histogram s © Ungrouped data  sivfs/ # (B) Grouped data st$s) (A
The spread or scatterness of observations in a data set is called c;_ﬂk’/ill,ﬁ,’ Wt liiry | @
Percentile .#(Az (D) Central tendency eSS, (C) Dispersion 55 (B) Average Lo (A
If tan 8 =+/3 then 6 is equal to ': = S Jutan@=+3 Ji| (S
30° (D) 60° (O 45° (B) 90° (W
bt U il e SIS R bR LS5 | €6)

Locus of points in a plan equidistant from a fixed point is called
Diameter # (D) Circumference 4 (C)  Circle o715 (B) Radius yiss (A)

A circle has only one ... b Ll e 210 L1 | (D)
Centre Y7 (D)) Diameter & (C) Chord /s (B) Secant &5 (A)
R IS PSP LSl A0° i T HT LT | (B

An arc subtends a central angle of 40° then the corresponding chord will subtend a central angle of
80° (D 60° (C) 40° (B 20° (W

Angle inscribed in a semi circle is e bngsisn® Sfoefbid | (9)
/6 D)) /4 (O w/3 B) w2 (A)
Two linear factors of x* — 15x% + 56 are i B G nLnd X2 - 15x +56 | (10)
(x+7) and s (x+8) (D) (x-7) and .3 (x-8) (C) (x+7)and.sf (x-8) (B) (x-7)and .(x+8) (A)
Sum of cube roots of unity is ‘ s Al §d | D

3@M -10© 1 B) 0 A
C‘—-,i)j:b/ ZBMZOC ;u:ﬂfl‘uz. Px2+qx+y=0 ebls B, x ﬁ 12

If o,B areroots of Px*+qx+v=0 Then sum of roots of 2cc,2 B is

~4 ~2q Y -4
7 O — © - B w
In a proportion a:b :: ¢:d , b and ¢ are called G2 Ufc s bt abcdert | (13)
Fourth proportion .£#¢ (D) Third proportion 414 (C) Extremes A} (B) Mean o (A)
| Third proportional of x* and y” is LAY ¥ sl x> | (14
L Yo O H® S
;z @) ;‘2‘ X ; F
Zx+1 . 2x+1
m [ P—— . ugl DD as)

An identity =£ 1~ (D) An equation .=+ (C) Proper fraction /-2t (B) An improper fraction ASoal g (A
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& 210 = =5 O4r.-6)L-2 (I S
60 = A U)o RN
Q. No. 2 Write Six short answers to the followmg 2x6 =12 c_‘!-’; F el A Lty g St 24y
Define quadratic equation _ 2 é}( i Pt Bass | 1
Solve by using quadratic formula 2 —x*=7x 2-X=Tx S csill vhiGus |2
Writc in standard form TJ*E =3 Lol o3 Py s
Find the third proportion to a’, 3a’ ' debe 51,57 a° 32" | 4
V=625 2Zr#RIn R=3 2 V=54V R J|5
If VxR’ and V=35 whenR = 3.Find R . when V = 625
Zetradd x Jungs 2:5 om0 3x+1:6H4x SSil6
If the ratios 3x+1 : 6+4x and 2 :5 are equal, then find the value of x
Find the product of complex cube roots of unity geb N WL L0607
Find the discriminant 6x*-8x+3 = 0 6x-8xt3 =0 Zphsd) |8

¥ -5x+3=0 éf}l”w/‘d’buu}ﬁ}u(ﬁ,lﬂ/ﬁ"id’
Without solving find the sumn and product of the roots of the equation x> —5x+3=0

. Q-No.3 Write Six short answers to the following ~ 2x6 = 12 .é’-'; G2 Lelrgaltditn 340w

What are partial fractions ? st Gz | 1

Resolve into partial fractions xzf;x_ = 2+zx 22 por S 2

DieBie aneone fickion ZEy S Sy 3

- g rteynidéngt LxL 9z M={d,e,f,g} s L={a,b,c} /Ji|4

If L={a,b,c}and M={d,e,f,g} ,then find two binary relations in LxL

gk YNX 9Y={2,4,5,9}m X={1,4,7,9} Si|5

If X={1,4,7,9}and Y={2,4, 5,9 }then find YNX

MI_f»X:;ZS , T=0 then find XNT ,z':r:“*‘XnT IaT=0" " X = g file

Definea frequency distribution ) é_’f_u /7 J ("7 dw’ 7

[Find ad_tﬁﬁleﬁc mean by direct method for the following data ."z.-fph‘mlduwmbgjycﬂg ).LA,.:L, _é“
_ 200,225, 350,375,270, 3207, 290

Fi)ei—ine Mode é...gl /7 ok | 9

b ZIn x=2,y=3 o2 Z= 36 o Zocxy )
If Zuxy andZ=36whenx=2,y=3,thenfindZ

Ina A ABC a=17cm,b=15cmand c=8cm Findm 2B

Deﬁnc proportion sy /" s _/b'-'

Locate the angle 135° in xy-plane 2 b =~ xy f _135 .,,u_ |
ifkpres; 315° into radians ) ) __cf;:;;m’ 315°
Conve~rt ﬁ ~ into degrees ) Z—J,«f uﬁdf :J/ —Z{E 4
Find rwhcn £’ 56 ¢cm and 0 = 45° Z:r}‘"...u’(fr Jn 0= 42&,1"._1'0_,56 cnl s
. %?t 1; ;lgg_s;e;;g_e_s.lﬁr;;l*s;;tem of measurement of angles ? “..».U'(M’JLAL{[:&J@J uy,u |

g meBinc=8cm s b=15cm,a=17cm & A ABC/!S

(5 | D,

|Divide an arc of any length into four equal parts éf;ﬁ 1 ":”f % ; ‘-‘-C’Jé_u\f_(__

Q. No. 4 Write Six short answers to the following 2x6 =12 df/ e L._,mngc,v.d’;z,u 4 AU
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NOTE : Attempt THREE questions in all But question No. 9 is compulsory

g

. e x+1 , x 25 x+1 x _ 25 s
Solve by factorization ——+ 1= 3 i e Al ES YA 2

&, B Lfbac-«bv.:.‘f ui_ne.:?u:tu’uLxl _3x+6=0 bt «,B S

If ,B areroots of equation x*—3x+6=0 Form equation whose roots are «?, g%

(A-5.Q

®

-6a—5b 6c-5d 6a—5h 6¢c—5d
If a:b=c:d then show th = 2 = 0 L. SR
at 6a+5b 6d+5d 6a+5b 6d+5d ;ésd:e; a . b c . d f’

; s ’ x?-3x+1 x2-3x+1 .
Resolve into partial fractions 77" D ..-‘_-'lk‘? sz

(A)-6.Q

(B)

(AUBY =A'nB' JS&Fp#7 B={1,4,7,10) o A={(1,3,5,7,9} ‘U={1,2,3, %0 10} /i
If U={1,2,3,4 10}, A={1,3,5,7;9} and B={1,4,7,10} then find (AUB) = A" NB'

The salaries of five teachers in rupees are as follows 11500 , 12400+,,15000 , 14500, 14800
Find range and standard deviation

2o AS e sz 11500 , 12400 , 15000 , 14500, 14800 kit (Lesd¥ Szl

(A»1.Q

®)

[ Verify the identity - (tanf-+cotd) (cosf + sind) = sect + cosectd 3 g{:at‘/..-..f v

g V! v ]}‘ 1l Y./ 3.5 ullf 25V LuLUu’I:L;lL./;_/ )
Draw two common tangents to two touching circles of radii 2.5 cm and 35.5 cm '

(A)-8.Q

®B)

Any two angles in the same segment of a circle are equal sl UnChta i B LR s
OR/} | |
(,L!L)f/_l/,uﬁayhﬁdi;‘umf 04 5»flg}!o/'l:d..._flku;}bgf (%)

If two arcs of a circle (or of congruent circles) are congruent then the corresponding chords are equal
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